2¥ ke A certain sum mcraaﬁea by

- India, Indian E , Hin- | 12. A,B
. -80%in 6 years at 5 e xpress, Hin and C start 2 business in

dustan Times, Business Her- partnership with investments
z;zlmﬁﬂﬁ mnterest. What wili he . ald, Navbharat Times and The = i 5
Emﬂfjﬁ“;g Tézgzaﬁ On an Tribune in the ratio '3 's . After
after 3 | Gv) : '
vears at the same s ] T’ who teuds Eﬁm E;xpma, 4 months from the Etar*t of the
rate of in is the mother-in-law of P and :

terest? - P is the wifs of R business, A Increases his in-

1) Rs. : : vestment by 50%. If total prof-

. B)Rs.3872  (4)Rs. 6240 not read The Times of India or 21600, what will be B's share

2. Sundarbans is coastal forest of The Tribune. in the profit?

(1) Gangeticdelta (n) %:“E;ﬁﬁiﬂ ﬁﬁ‘ﬁfﬁh&fﬂ?ﬁ;ﬁﬂ ﬁzﬁ (1)Rs. 2160 (2) Rs. 2400
(2) Gulf of Mannar e is the igter of U1 pad (3)Rs. 2600  (4) Rs, 4000

(8) Kaveri delta .ﬁin&uﬁtar_l Times. 13. Which of the followi hi
e (vi) R does nof read The Tribune, | 1 'Vichoithe followingtrophies
:i'- avari delta 8. I doon Thave? is reiated to foothall?
" 3. Somelettersaremissinginthe | o oY S0RS G088 RATE (1) Mumbai Gold Cup
- following letter series and that (1) One (2) Two {2) Everest Cup

letters are presented in that @ Tﬂ!‘?& (4 Rovr (3) Merdeka Cup
order in one of the alternatives, | 7. How Uisrelated to T ? {4) BCC Cup :
SEIEC{; the COrTect a‘ft&m&twa : {1} Son 14, The rank of Uma from the tﬂp
stt._tt_tts (2) Daughter is 8th and 37th from the bot-
(1) tsts {(2) ttst (3) Brother ; tom. How many students are
~ (3) sstt - {4) tsst (4) Data inadequate - therein theclass ?
4, Where ig the Wanderers test 8. Which of the following i1s a (1) 43 (2) 44
cricket ground located? married couple? . (8) 46 (4)46 = -
- (1} Colombo (1) QU (2) TU 15, Where was the 2014 United
: 1 () (4y ST _ Nations Climate Change Con-
) Me vonrrc S@ i ference G{}PE{? or CMP10-
(3) Auckland 9. Which of the following news- hald? :
(4) Johannesburg | ppersdans Hirend | o ntam
5.. Where is the headquarters of (1) Business Herald &) lioa |
Geological ﬁm&y of India lo- (2) The Times of India - - . oW
' : | (3) Rio de Janeirg
cated? ~ {(3) Mavbharat Times -~ @ e
ATy F&tﬂﬂ - (& Mﬁ*ﬁﬁﬁn . {4) None of these. . L Bogota - -
Sl 18. Some letters mmwmth%
;;;{g} Kolks 10, Who among the fﬁﬂﬁw ﬁﬂ&ﬁ foll Liernr d that
o Digeitions Study the read The Times of India ? owing cenns e
1} “"'"‘ i @“’m} s _ letters are presented in that |
Howing o s B order in one of the aliernatives,
(3} 1{ BT _.-f:i'_'.i:'f.f.'-:-:ii; 2 _ i Sﬁi&ﬂi} ﬁ&ﬁ' Eﬂm ﬁitﬁmﬂn%
{3} %ﬁ & 1*-'1*?55-*’4E 33? of 8ig Mmemoey (3} n e Efﬁ !gm-&ﬂ«f&. j'--j‘
Q. %ﬂp % T and % ﬁ;iiz zﬁ 3 (%} Qﬁ%ﬂ maﬂ&&;zm&;a o ) Ei‘f@. SRR
three mﬁl% ﬁﬁ 11, What will be ‘th& xam t&rm in (8) ifgie..

i Q%E aﬁe %ﬁm @ﬁ m ples. | . _ Eﬂ‘ﬁeﬂ i 17, ’@é’haﬂh ﬂ@tﬂﬁ;
o W @} m o
{1} Bach of them reads different | e m {41098
D syt y TRe Pimesof |
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{2) Ching 24, What doss ‘(" stand for in the letters are presented in that

{3} E%m@ {4} Laos abbraviation SAARCT order in one of the alternatives,
AB, A 12 yesrs older than B, Bl {1} Conference Select the correct aliernative .
present Bge is bwice to that of {2} Comwonwealth a b _abaa_bab_ abb

&k HWihe sum of the ngenofa, | - -'(3}"‘%’3%@%&&;;@ {1) agabb (2} ababb

Eﬁﬁﬁ%ﬁ?ﬁ.-ﬁhﬂ%mf. -

g2y 'ggk@ﬂ @gﬁ? o oAl Qmﬂa&nﬁm e i (3) babab (4} bsbba
g L E} o %*%&-ﬁﬁ@?&fﬁq sefanginlss { 3% What will be the difference
8 W ‘1 A8 mebre ong ﬂmﬁ% %.2 Mm between the compound inter-
iﬁ?ﬁm {4} 10 yenrs ‘broad ig o be paved with agt acerued on a sum of Hs,
- %gmmrm suber st sguare tiies. How many least 5000 at 4% per annum and half
| e nuﬁz?gar of sguare tileg will be yearly?

{E} mﬁ radio communics- reguired for if? (1)Rs. 2.04 (2)Rs. 8.06
tion possible by reflecting (1) 814 (2) 820 (3)Rs. 4.80  (4)Hs 8.30
tadio waves - (3) 869 (4) 844 | 83, Name the cricketer who logt

(2} Absorbs ultraviolet rays 26. What will be the next number his life in November 2014 due

(3) Regulates atmospheric in the following number series? to fatal injury on the play
temperature I 6 a3 25 41 7 ground?

. (4} Absorbs eosmic-ray parti- | (1) 61 (2)B7 (1) Merv Hughes

%ﬁ ‘ﬁzawm% agein 1l-member | 26. Astudent muiﬁpﬁeﬁanumher & B tughcs

ericket team is 26 years. The a0 " {(4) None of these

wicket z;@ag;?y is 3 years older by = instead of = What is | 34. Boatraceis a feature of which

than captain. If the ages of festival?

these two players are removed, the percgntage of error in this (1) Onam

the average age of the caleulation ? (2) Pongal

~ remaining players s 1 year less e 2) 1% (3) Rongali Bil

than that of the whole team. |  (3)54% (4) 64% P

What is the average age of | 27. What will be the next number ) H‘ﬂ‘?amtﬁ |

whole team? . inthe following number series? 36. The diagonal of a rectangle is

- (1)23 years 825, 259, 204, 160, 127, 105, 7 J41 cm and its area is 20 sq.

(2) 40 years (1) 94 (296 em. The perimeter of the rect-

. (3)25 years (3) 88 (4)100 angle is i

(4) None of these e z&:;t ?;]f be the next number (D9 em. (2) 18 em.

-Z1. Three years ago; the average | 4,7, i; ;:ﬂng ?Mher il (3)20em.  (4)41.cm.
ﬂfth& age ﬁf}iﬂﬂbaﬂd ﬂﬂd Wife 5 {1 . ¥ ¥ ?"'ﬁ".l L] gﬁu J'm ﬂﬂi’ﬂﬁﬁi‘ﬁﬁ ﬁﬂd B ﬂl‘é Eﬂﬂh

- ago, wzf& and ciuim average {3}.3;.9,_' (4)49 and 4% of number B i two--

age was 20 yeers. Find the | 29- National Cadet Corps is an or- third of the sum of §% of num-

present age afhuhﬁxz& ., Bamization of ber A and 8% of number B.

(1).865years  : & - (1) Factory workers - Find the ratio between the

(2)-40 years (2} School and college students | numbersAand B. .

(8) 50years _ {3} F:—arm&xﬁ L (H2:3 - (E'} 1 3{

29 Whﬁiﬁ is Arid: Eﬂﬁﬂﬂﬁﬂﬂﬂ?ﬂh a'__ Fmﬂ ﬂlﬁ Iﬂlﬁﬁiﬂg‘ Iium};;er | 37, ﬁ THLELSS Wﬁikﬂ Eiﬂﬂg ﬁle élagg.

Institute located? - _ i iﬁ,mﬁﬁ 127 nal of a square plot, What per

(1) Rejasthan:- ... ° | @ @8 - cent did he save by not walk-

@ Cujarat - ..., - | G4 T @ez ing along the sides of square

(3) Madhya fﬁmm 81 ﬁmi }rafgm misigthe: b
(4) Odisha .~ . following letter series and that | ) 20 {a}m
RN s (380  (4)38




s and that

0fthe aiternatives,
DrTect al iernative -

orderin one
Select the o

W_rt s usriu__
{1} rtusm (2) rsuter
B rsurtr  (4) ryre

41,

The average maonthly

: ¥ income of
Pand QisRs. 5050, The aver-
age monthly income of 3 and
B ig Bs. 6250 and that of Pand
R is Hs. 5200. What is the
monthly income of P9

(1)Rs. 3500 (2)Rs. 4000
(3)Bs. 4050 (4)Re. 5000
Father is 24 vears elder than

hi‘s 8on. After fwo years his age
will be twice the age of his son,

What is the present age of his
son? -

(1)14 years (2} 18 years
(3)20 years  (4)22 years
I go towards north and turns

to the left, After wallting some
digtance | turn to the left and
then o the right. Again I turn
to the left and again | turn o
the left. Now I am in which di-
rection 7

{1} North (2) South
(3) East (4} West
Some letters ere missing in the

following letter series and that
letters are presented in that

- order in one of the aiternatives.

43.

44.

45,

Sealect the correct aliernative
a_bbc_asb _cca  bbec

(1) bach (2) acha
(&) abba {4) caba
‘Find the missing number.
4,10, 82, 344,730
(1124 - {2)28
(3y7T7 (43218
If the code of CHAIR is

FEDLU, then code of RAID
would be :

(1) ULGD (2) ULKG
(ULDG (4) UDLG
Select the missing ferm of the

series from among the given
alternstives

448,

47,

48.

49,

BL.

5%#

(1) Re. 8400

ARDEH I, QT

{1}LM {2) N

{3} MP {4)OM

The longest dam of India ie:
{1} Hirakud

{2} Kosi

{3} Bhakra

{4} Nagurjunsagar

The respective ratio of the
present apges of Sameer and
Anandis § ;4. Three years hence
the ratio between their ages will

be 131 : 9, The present age of
Anand is

(1) 24 vears
{2) 27 vears
{3) 40 years
{4} Cannot be determined

A, B and C together contribute
a sum of Rs, 50000 for a busi-
ness. A contributes HEs. 4000
more than that of B and B con-
tributes Rs. 5000 more than
that of C. What will A receive
in a total annual profit of Rs
3606007

{21 Rs. 11,500

(3)Rs. 18,600 (4)Hs, 14,700

What is the meaning of Mid-

night Sun?

(1) Riging sun

(2) Twilight

{3) Extremely shining roon

{4) Buniight for longer dura-
tion in pelar region

Mudumalai Sanctuary is fa-

meus for .

(i} Bison (2) Bird

(8) Blephant (4) Tiger

Cancer cells receive energy

from

(1) Fatty acid oxidation

(2) Glyeolysis o

(8) Oxidative phosphorylation
(4) Mitochondria - .

The cause of Hepatitis Bis:

(1) BNA virus
(2) DNA virus |
(3 M}r ﬂﬂp}ﬂam “ s .
(4) Mitochondsia "~ =

B3,

5&.

TR

Which of the following s not a
strong acid?

11) HNQ,

{2) CH,CO0H

{3} H,50,

{4} HCI

Chlamydia leads to

(1) Infertility

(2) Pneunothorax

(3) Congenita] disorder in the
fetus

{4) None of these

. Which of the following correct-

ly defines neoplasm?

{1} Cancer

i2} Carcinoma

(3} Tumour _

(4} Autonomous new growth

Which of the following com-

pounds ia not an antioxidant?

(1} 8O, (2) H,PO,

(8) KMNG, (@) N,

Which of the fnllowing are the

four basgic fissues found in

body?

(1) Epithelial, Connective,
Muscular and Nervous tis-
e :

{2} Lose, Dense Connective,
Bense Hegular and Dense
Irregular

(3} Bone, Cartilage, Glands

and Adipose tissue

{(4) Muscle, Cartilage, Glandu-
lar and Connective tissue

58, Which of the following is used

58,

te belance the constipating ef- -
fect of caleium inthe man
ture of antaeid?- -
(1) Aluminium antacid -
(%) Magnesium antacid
(8) Bodium antacid: - -
(4) Alginicacid =%

Which agentis miostly used for
the fization £ Pap sinear? -,
(1) Bthylaid dol 0,
(8) Forrhalin: - - .
(4) Xylel & -
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(8) Carditis
(4} Bradveardin
% The main function of carhghy

drate is
(1} To mest the energy needs
of body - ;
{2} To meet formative needs
{3} To meet protein needs
~ {4) Te meet engyme needs
3. Theexample of dietary protein
- deficiency is:
{1} Protein intolerance
(Z} Phenyviketonuria
(3) Cirrhosis
{4} Kwashiorkor
&4, PO-XTis the abbreviated form
of

{1} Personal C@mpuﬁer Exter-
nal Technology

(2} Pergonal Computer Ex-

.. tended Technology

: {3} Personal Computer Em-
- bedded Technology

(4} Personal Computer Ex-
ﬁﬁné@ﬂimﬁi@@

ﬁﬁi Aftar' booting precess which
file executes a&t&m&h&aﬁy‘?

; (1} n:unﬂg 8%8: |
(23 mmmﬂnﬁ.@aiﬁ
{2 autﬁex&c %aai-.

{4} 30.8y8. . e

i, ixbaooaed ‘Eﬂﬁﬁi mﬁﬁaf

{3} miﬂﬁﬁﬁ?ﬁ (%};.;.af‘:_ P

celluiar ﬁanﬁ%é@ﬁ‘?

(1) Golgi apparatus
(2) Nucleus

(8) Mitochondris
(4) Ribogome

n g8, Any medical ﬁ.t-ﬁﬁ'ﬁ will be

..ealled an iden! Medical Store

ifnta phannan&uﬁmi mvmm- :

Ty
{1) Ig in excess
- {2) Is insufficient
(3} Is too less
(4} Iz in between excess and
ingufficient
70. The common cause of fat em-
bolism is
(1} Traumsa to bones
(2) Cutaneous burns
(3} Alecoholic fatty liver
(4) Mone of these
7L, Which nerve cell carries im-
~ pulses from central nervous
gystem {0 periphery?
(1} Celia (2} Afferent
(3} Dendrite (4) Efferent

72. The Unix opersting system is

specifically used for
(1} Desktop cormputers
(2) Laptop computers
(3} Supercomputers _
(4} All of the options given
- above
73. From where do macrophages
crigingte?
(1} Monocyies
(2) Tissus cells
{(3) Giznt cells
{4} Lymphocytes
‘4. All of the following vascular
changes are cheerved in acute
inflammation, except:
{1} Vazodilation
{2) Stasis of blood
(&) Incrsased vascular perme-
ability . m
{4) Diecreased hydrestaiic
pressure

'*?}ﬁf?@ Which of the following is a sed-
: :._:.:._.::-.: Etlvau?

(1) Aloe
* (2) Digitelis

{3} Vines
(4) Ashwagandha
78. Gas gangrene is caused by
which organism?
(1) Clogtridium tetani
(2) Clostridinm perfringens
(38} B, Coli
(4) None of these
77. Lisbermann-Burchard reac-
tion is used in
(1) Wax test (2) Oil {est
{3) Fat test {4) Sterol test
78. The increase in size of organ
due to increase in gize of indi-
vidual cells iz called
(1) Hyperplasia
{2) Dvsplasis
" {3) Hypertrophy
{4) Msataplasia
79. Gangrene igthe death of a part
accompanied by:
(1) Suppuration
{2) Putrefaction
(3) Calcification
{4) Fibrogis

88. As which form of chemiistry

has biochemisiry b&en de-

fined?

{1} Organism System Chemis-
iy

{2} Living System Chemistry

(3) Unorganized Bystem
Chemistry

{(4) Inorganic
Chemistry

81. Which of the following devices
is Ep&ﬁn&ﬂy designed to forward
packets to gpecific ports m_ed
on the packet's addms‘?

(1) Ema};ty hub

(2) Switehing hub

(%) Port hub

{4} Biltering hub

82. Which of the following is not

an intracellular uz'gamam‘?

(1) Virus -

(2) Chlamydia

(3} Mycoplagms

(4} Rickettaia

Cﬂmﬁnund



B83.; What is the nama of
tess wherein ¢
_ {ﬁﬁ- chas milk)i

?a’ze '-"jmﬁ_'
he food stufr
1s heated gt very

:_Z.:' o £ - .‘=._ - 1
.:__::_. {¢; Inoculation

%méﬁlgkmtiﬁﬂ
%’,ﬁm '%& Harnin K i‘i&%ﬁ&,hééfﬂf i seen in
(1) Hepatic jaundice

- (2) Prehepaticjaundics

- (8) Obstructive Jaundice

{4} ‘*é*:ﬂm of these

ﬁﬁ &SR begi
iz an ﬂmﬁmﬂ in

. = {1) Leucoeyies
. {2) Protein

{3} Complements
{4} Hageman factor
’Eﬁ& For blood transfusion

18 Lo rise when there

Aalor

...'-..l...-d..

in & new
born baby suffering from
+ Haemeolytic disease
| {1} Fresh blood should be used
(2} Only plasma should be
0 used
. (8) 7 days old blood can be
uged
% {4) None of these can be used
87. The general test for all types
- of carbohydrates is:
1) Benedict's test
- (2) Molisch test
(8) Tollen's test
_ (4) Barfoed's test
88. The confirmation of Myelofri-
brosis is done by

S {3y Fﬁﬂ;ﬁlﬁ:ﬁﬁ grmear

iﬁ? Leucocyies alialine phos-
?ﬁﬁiﬁdﬁ:ﬁ inmeutro ghﬁﬁ

fﬁ} Bone iarow iﬁiﬂ}}w
(4). Iﬁﬁﬂa iﬁ iﬁﬁmﬂ

89, The primary ﬁﬂfﬁﬂf w}mh

leads to sickle cell anemia is-

(1) Abnormality in F‘ﬂf}}hﬁm
of hemoglobin

{2} Glutamate substitution by
- Valine in B chain of HbA

{%':‘1 Missense mutationin B
chain of HbA

mmna e

X

TV VU o ik s

9G.

hR

i detn

b
Fa s
(3)
b

86,

'{i% Qﬁiﬁ'éﬁ“& A

o

(4} Valine substitution by
Glutamate in 8 chein of
HbBA

Which of the following iz not &
main funciion of stomach?

{i) Absorption of water and
nufrients

Bulk storage

Chemical digestion
Mechanical hreakdown

i exampie of a
no acd i

"“.'a".‘-i:fiu?ﬁ: ami-

(2} Leuecine
frﬁ} ﬂ@%.@uﬂﬂii&ﬂ

4} Glutamine

{1) Tryosine

Necrotic granuloma is espe
cially found in

i1) Amoeboma

(2) Leprosy

(3) Tubercu
‘s

-~

1]

3

-,
1
L

o818

-
L

F

'“'q.
“:,.

Gumms

Lﬁgﬁ:ﬁﬁﬂ?@ﬁﬁﬁ originates from

{1} Skin and soft tissues

{2} Fibrous tissue

{8} Cellz and conneactive tig-
sues '

(4) '?f":mé of these

Before expuision from the bod

the increasing dehydration i.vf

{}rgﬁw ¢ waste and undigested

material is known a8

(1) Compaction

{(2) Excretion

Abgorption

{4} Injection :

All logical and mathematical

caleulations are earried out in

which nart of computer?

{"5‘"‘1 Mother ;%ﬂ‘i,i*d _

?ﬁa“ﬂﬁﬂ s 0 :

{r?;:“ Central Control ‘{.Imﬂ

"‘IH s&ﬂﬁdﬂl@ﬁ in ?ﬁmh un*{ - |

ﬂﬂ, -mti ﬂ@léﬁ ﬁ ﬂﬂf{i:ﬁﬁ# ﬂiﬂbﬁ%

di¢’ due to lack of. %H{Fg'%ﬂ 1%*
known'as

(1) Myocar {.;mﬁi infs ﬁ'ﬂi Iﬁi“f

{2 Corenaty ﬁii’uﬂtiﬁﬁﬁﬁ

{ *ﬂ'} m@gﬁﬁa ffxﬁim“
4} Tachyeardia

] mma—uﬁﬂ:h'.'nwnzlm=mﬂ—_"mw II-H-I\_. w:.h-\.-:.\:a-':-u'—\.—\.v'-\.'.'.'_';.'_ ..... e ot g e e

‘rocessing Unit . |

i

e

sarszma

: _-r_

97, During cell injury, the cell or-

%,
ek

ganelle that is most affected 18
(1} Mitochondria

{2} Lysesomes

(3) Perioxisomes

{4) Microtubules

Which of the following drugs
ig used as eardiotonic?

(1} Sennsa (2) Rhubarb

(3) Alae {4) Digitalis
Which of the following is a wa-
ter-soluble vitamin?

{1) Vitamin A

(Z) Vitamin C

{(3) Vitamin E

(4) Vitamin K

By which structure is fetus
orotected?

{1) Decidua

(2) Amnictie fluid

(3) Corpus luteum
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